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Note: i) All questions are compulsory.

ii) Each question carries 25 marks.

Q1. Answer any TWO of the following. vv

a) Define fertility. Explain various social tactors affectmg fertlllty
b) What are the economic factors determmlng age at marrlage‘?

c¢) State the reasons of declining mortahty rate in developmg countrles 3

Q2. Answer any TWO of the following. R

a) Define migration and state 1ts types “ A E RO
b) Review the Theory of Mlgratioﬁ glven by Harrls and Todaro “
¢) Discuss the issues of urbamzation Wlth respect to water supply, samtatlon and

transport facﬂltles

Q3. Answer any TWE éf the’ ollowing.

a) Describe sallent features Qf Indla s populc , » ¢
b) State the 1mp0rtance of famlly pIannmg in populatlon control

c) Write. a note on populatron prOJectlon in lndla 5

Q4 erte notes on any TWO of the followmg

; a) Llfe tables S o VS,
b) Pattern of urbamzatlon 1n Indla f"f" PO

c) Famlly plannmg in Indla v
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